
Subject: Re: January 1 - 2010
Posted by trooprm02 on Thu, 12 Aug 2010 02:55:02 GMT
View Forum Message <> Reply to Message

Goztow wrote on Wed, 11 August 2010 13:48
objects.dbb actually has the value of 2.5 in it standard, it's just that Ren couldn't read the .5 so
gave 2. With the fixed bug, it gives 2 - 3 - 2 - 3 -

Wow wtf? I guess first off, why did Westwood pick 2.5 in the first place? 2-3-2-3 just seems like a
really weird way of doing it....is there an issue with keeping it at 2-2-2-2? If not, I think that should
be left alone.
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